
24.2.21  

Year 1 Multiplication Through Arrays   

Please write out the multiplication and draw your arrays to find the answer.  

If you are doing the green level of work and watching the video, we will be 

working through some of these questions together.  

If you are doing the orange level, you will be answering the questions by 

drawing the array and using your knowledge of counting in multiples to find 

the answer.  

If you are doing the red level and challenging yourself, you will do the same as 

orange and you will be using your knowledge of the law of commutativity to 

find the alternative multiplication for your array.  

 

3 x 2 = 7 x 10 = 8 x 5 =  

2 x 5 = 6 x 2 =  10 x 10 =  

5 x 10 = 7 x 5 =  2 x 2 =  

4 x 2 =  9 x 10 =  6 x 5 =  

5 x 5 = 9 x 2 =  2 x 10 =  

 


